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General Instructions: 

(i) All questions are compulsory.

(ii) Question No. 1 to 3 in section A are very short answer type questions carrying one mark each. The questions are to be answered in one word or a sentence.

(iii)  Question No. 4 to 6 in section A are short answer type questions carrying two marks each. Their answers may not normally exceed 40 words each.

(iv) Question No. 7 and 8 in section A are also short answer type questions carrying three marks each. Their answers may not normally exceed 60 words each. 

(v) Question No. 9 in section A is long answer type question carrying five marks 
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(vi) Questions number 10 to 15 in Section B are multiple choice questions based on practical skills. Each question is a one mark question. You are to select one most appropriate response out of the four provided to you.

SECTION A

1. What is the cause of dispersion of white light on passing through a prism?

2. What is the relation connecting focal length and radius of curvature of a spherical mirror?

3. A ray of light XY is incident on a mirror as shown in the figure. The angle of incidence for this ray is the angle between it and the line joining two other points in the figure. Name these two points.
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4. Give reasons:
i.  at sunset or sunrise, the sun looks almost reddish.
ii. Lights of red colour are used for danger signals.

5. In what S.I. units is power of lens rated? A convex lens has a focal length of 50 cm. calculate its power.

6. A beam of white light falling on a glass prism split up into seven colours marked 1 to 7 as shown in the diagram. 
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i. What are the colours of the rays at the positions 3 and 5?

ii.  which are the colours that deviate the most and the least?

7. (i). A concave mirror produces three times enlarged image of an object placed at 10 cm in front of it. Calculate the focal length of the mirror.
(ii). show the formation of the image with the help of a ray diagram when the object is placed 6 cm away from the pole of the mirror.
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Study the given diagram below and answer the questions that follow it.

(a) Which defect of vision is represented here? Give reason for your answer.

(b) What could be the causes of this defect?

(c) Draw ray diagram to show the correction of this defect by the use of a suitable lens.

9. i.
  Under what condition will a glass lens placed in a transparent liquid become invisible?

ii.  Describe and illustrate with a diagram, how we should arrange two converging lenses so that a parallel beam of light entering one lens emerges as a parallel beam after passing through the second lens. 

iii.  An object is placed at a distance of 3 cm from a, concave lens of focal length L2 cm. Find the (i) position and (ii) nature of the image formed.

SECTION B

1. In an experiment, the image of a distant object formed by a concave mirror is obtained on a screen. To determine the focal length of the mirror, you need to measure the distance between the

(a) mirror and the screen.

(b) mirror and the object.

(c) object and the screen.

(d) mirror and the screen and also between the object and the screen.
2. While tracing the path of a ray of light through a rectangular glass slab, the four students I, II, III and IV arrived at the following different conclusions :

Student I : Angle of incidence > Angle of emergence.

Student II : Angle of refraction > Angle of emergence.

Student III : Emergent ray is parallel to refracted ray.

Student IV : Emergent ray is parallel to incident ray.

The correct conclusion has been drawn by the student 

(A) I 

(B) II 


(C) III 



(D)IV

3. Parallel rays from a distant tree incident on a convex lens form an image on the screen.
[image: image5.emf]
The diagram correctly showing the image of the tree on the screen is

(a) A. 

(b) B.

(c) C.

(d) D.

4. the best set-up of the incident ray to trace the path of a ray of light through a rectangular glass slab is represented in the figure
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(A) I 


(B) II 


(C) III 


(D)IV

5. In the experiment to trace the path of a ray of light through a rectangular glass slab using pins P1, P2, P3 and P4, four students did the following

A: looked at heads of P1 and P2 while placing P3, and heads of P1, P2 and P3 while placing  P4

B: looked at feet of P1 and P2 while placing P3, and feet of P1, P2 and P3 while placing P4

C: looked at heads of P1 and P2 while placing P3, and feet of all the pins while placing P4

D: looked at feet of P1 and P2 while placing P3, and heads of all the pins while placing P4

The correct procedure is that of student
(a) A

(b) B


(c) C


(d) D.
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